Moto-All.ru

CITMCOK OETAJIEY N1 "HANDLEBARS & SWITCHES" TRIUMPH

DAYTONA 675

//OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75




CITMCOK OETAJIEY IIJ1d "HANDLEBARS & SWITCHES" TRIUMPH

DAYTONA 675

//OEM.MOTO-ALL.RU/
TEJL: +7 (495) 177-12-75

1 T2049157 CpOK 1oCTaBKu 0T 27 gHEeN HANDLEBAR ASSY,LH 1
2 T2049158 CpoK IOCTaBKH OT 27 gHel HANDLEBAR ASSY,RH 1
3 T3050175 CpOK 1oCTaBKu 0T 27 gHEeN KIT,4X SCREW M8X1.25X30 SLV 4
4 T3050342 CpOK 1OCTaBKH 0T 27 JHER SCREW,CAP/HD,M5X0.8X16,SLV 2
5 T2049216 CpoK 1oCTaBKH OT 27 gHEH PLUG,HANDLEBAR 2
6 T2026202 CpOK 1I0CTaBKH 0T 27 JHEN BRACKET, BRAKE RESERVOIR 1
7 T3203115 CpoK 1OCTaBKH OT 27 gHEH BOLT,RHHF,M6X1.0X12 S/S 1
8 T2040274 CpOK 1oCTaBKH 0T 27 JHEeR SWITCH ASSY,LIGHTS ON,LH 1
9 T2049237 Cpok nocrtaBku oT 19 gHen gyggﬂg:llll;e Assembly, RH. Daytona 1
9 T2049202 CpoK 1oCTaBKH OT 27 gHEH SWITCHCUBE,RH,6-WAY 1
10 T3331810 CpoK nOCTaBKH OT 27 gHel SCREW, M5 X 40 1
11 T3331790 CpoK 1OCTaBKH OT 27 gHEeH SCREW, M5 X 30 1
12 T3331800 CpoK IIOCTaBKH OT 27 JHEU SCREW, M5 X 22 2
13 T2040740 CpoK 1oCTaBKY OT 27 gHel GRIP, HANDLEBAR, LH 1
14 T2040254 CpoOK 1oCTaBKu 0T 27 gHEen GRIP,HANDLEBAR,RH 1
15 T2040252 CpOK 1oCTaBKH 0T 27 fHel Eﬁg&ﬂ LE ACTUATOR,TWIN 1
16 T3330643 CpoK IOCTaBKH OT 27 gHeH SCREW,M5X0.8X30,CSK,SKT,PATCH 2
17 T2049230 CpOK 1I0CTaBKH 0T 27 fHER WEIGHT,BAR END 2
17 T2040647 Cpoxk nocTaBku 0T 19 fHEHn X\gg}z‘i >Bar End. Daytona 675R & 2
18 T2049220 CpoK 1OCTaBKH OT 27 gHEH CLIP,BAR END 2
19 T2049260 CpoK IIOCTaBKH OT 27 gHel RUBBER,BAR END,SPLIT 4
21 T2049240 CpoK IOCTaBKH OT 27 gHEeH WEIGHT,INTERNAL 2
22 T2049170 CpOK II0CTaBKH 0T 27 fHER YOKE ASSY,UPPER 1
23 T2041120 Cpok nocrtaBku oT 19 gHen Ig;lstRUgIﬁ;r Yoke, Black. Daytona 1
23 T2041100 CpoK 1OCTaBKH OT 27 gHEH NUT, UPPER YOKE, M25 1
24 T2049171 CpOK IIOCTaBKH 0T 27 JHER CABLE, THROTTLE TWIN 1
25 T2040884 CpoK IOCTaBKH OT 27 gHEeH CLIP,TWIN, SPEEDO-BRAKE 2
26 T2040811 Cpoxk nocTaBku 0T 19 nHEHn Twin Clip, Brake Hose 2
27 T3700212 Cpok nocTaBku oT 19 gHel Band, Rubber. Daytona 675R Only 1




